Quick Start Guide

ZYXEL

A. Overview

RGS100-5P Rugged Switch

D. Dimension lllustration

F. Wall Mounting

The RGS100-5P Rugged switch is designed for supporting
environmental hardening application without complex setup to make
the network truly plug-and-play.

B. Ground Connecting

The switch must be properly grounded for optimum system
performance.
RGS100-5P

B4+ 32

---4 Ground Connector

C. Power Connecting

The switch can be powered from two power supply (input range 12V
— 58V). Insert the positive and negative wires into V+ and V- contact
on the terminal block and tighten the wire-clamp screws to prevent
the wires from being loosened.

2 The DC power should be connected to a well-fused power supply.

& Input power should be within the range of 54~58 VDC for PoE+
compliant, or 48-58VDC for PoE compliant.

10.6]

RGS100-5P
.____L“_HJ — _.@@
4| oM
76,0 ‘
[3.0]
11,0 37.0 11,0 a1, 186
290 7o | MO, rft T 1B A
2! A L e o =
FAT O3 103 ToAT T 0] 02T 1 133
I | | - L
V) L am Vi HoHe, o i N
[ 5 1
oo o o |- 60 66
ofs
)
“ 13k olF of 5= ey
o o 132 4= 3|+, Blw,
™| ST
Q=
N ] o[? : Sig
[ gl LI i
(R T
W, . °§ - 1 o ;

11.0
[0.4] [1.0] 2.7] [0.4]

E. DIN-Rail Mounting

Mounting step:

1. Screw the DIN-Rail bracket on with the bracket and screws in the
accessory kit.
2. Hook the unit over the DIN rail.

3. Push the bottom of the unit towards the DIN Rail until it snaps into
place.

-9 rY
o -
-8 [ [
- 107,00
p’p" 4.21]

Screw on the wall-mount plate on with the plate and M4 screws in
the accessory kit.

163,00
[6.42]

151,00
[6.94]

o
«?
0? . -

I
2910 M4 Screw

163,00
[6.42]

151,00
[5.94]

M4 Screw

This equipment is intended to be used in a Restricted Access
Location, with access limited to SERVICE PERSONAL and USERS
authorized to be in that location.

EU Importer

Zyxel Communication A/S
Generatorvej 8D, 2860 Sgborg, Denmark.

http://www.zyxel.dk

US Importer

Zyxel Communications, Inc
1130 North Miller Street Anaheim, CA 92806-2001

http://www.us.zyxel.com

Copyright © 2016 Zyxel Communications Corp. All Rights Reserved



Pvagyar  YPoiski___ YSlovencina %

A. Az RGS100-5P Managed Rugged switch célja, hogy
bonyolult beéllitasok nélkiil, valéban plug-and-play médon
tamogassa a szélséséges kdrnyezetben torténé hasznalatot.

B. A switchet az optimalis rendszerteljesitményhez
megfelel6en testelni kell.

C. A switch kétféle aramforrasrdél tizemeltethetd (bemeneti
tartomany: 12V - 58 V). Csatlakoztassa a pozitiv és negativ
vezetékeket a kapocsléc megfelel$ V+ és V- érintkez6jéhez,
és huizza meg a kdbelrogzité csavarokat, hogy a vezetékek ne
lazulhassanak ki.

+ A DC tapellatast megfelel6 biztositékkal ellatott
aramforrashoz csatlakoztassa.

+ A bemen6 teljesitmény legyen az 54 - 58 V DC
tartomanyban a PoE+, vagy a 48 - 58 V DC tartomanyban a
PoE szabvény teljesitéséhez.

E. Rogzités:

1. Csavarozza fel a DIN sin konzolt a kiegészit6k kozt talalhato
csavarokkal.

2. Akassza az egységet a DIN sinre.

3.Tolja az egység aljat a DIN sin irdnyaba, amig az nem
pattan a helyére.

F. Csavarozza fel a fali tartékonzolt a tartozékok kozt
talalhato lemezzel és az M4 csavarokkal.

. J

A. Przetacznik RGS100-5P o wytrzymatej konstrukcji jest
przeznaczony do stabilizacji Srodowiska sieciowego bez
kompleksowej konfiguracji w celu uczynienia sieci siecig typu
plug-and-play (podfacz i uzywaj).

B. Przefacznik nalezy prawidtowo uziemi¢ dla zapewnienia

optymalnej wydajnosci systemu.

C. Przefagcznik moze by¢ zasilany z dwoch zrodet zasilania

(zakres wejs¢ 12 V - 58 V). Wiozy¢ dodatnie i ujemne

przewody do stykéw V+ i V- na bloku zaciskéw i dokrecic¢

Sruby zaciskowe, aby uniemozliwi¢ poluzowanie sie

przewodu.

« Zasilanie przy uzyciu pradu statego powinno by¢
podtaczone do Zrédta zasilania w petni zabezpieczonego
przy uzyciu bezpiecznikéw.

- Napiecie zasilania powinno znajdowac sie w zakresie
54~58 VDC dla zgodnosci ze standardem PoE+ lub 48-58
VDC dla zgodnosci ze standardem PoE.

E. Czynnosci montazowe:

1. Przykreci¢ zacisk szyny DIN za pomoca zacisku i $rub
dostarczonych w zestawie.

2. Zawiesic¢ jednostke na szynie DIN.

3. Docisna¢ dolng czes¢ jednostki do szyny DIN, az zatrzasnie
sie w swoim potozeniu.

F. Przykreci¢ ptyte do montazu na Scianie za pomoca ptyty i

$rub M4 dostarczonych w zestawie.

. J

A. Masivny prepina¢ RGS100-5P je navrhnuty na podporu
pouzitia v zhorSenom prostredi bez komplexného nastavenia
s ciefom vytvorit skuto¢nu siet typu plug-and-play.

B. Na dosiahnutie optimélneho vykonu systému je prepinac

potrebné spravne uzemnit.

C. Prepina¢ mozno napajat dvoma zdrojmi napajania

(vstupny rozsah 12V az 58 V). Kladny a zéporny vodi¢

zastrcte do kontaktov V+ a V- na bloku s koncovkami a

utiahnite skrutky kablovych prichytiek, aby ste zabranili

uvolneniu vodicov.

« Napéjanie jednosmernym prudom (DC) je potrebné
pripojit k zdroju napajania so spravnymi poistkami.

« Vstupné napatie musi byt v rozsahu 54 az 58 V DC na
dosiahnutie zhody pre PoE+ alebo 48 az 58 V DC na
dosiahnutie zhody pre PoE.

E. Montéaz:

1. Pouzite drziak a skrutky zo stpravy s prislusenstvom a
naskrutkujte drziak s kolajni¢kou DIN.

2. Jednotku zaveste na kolajni¢ku DIN.

3. Stlacte tlacidlo na jednotke smerom ku kolajnicke DIN, az
kym nezapadne v spravnej polohe.

F. Pouzite platiu a skrutky M4 zo supravy s prislusenstvom a

naskrutkujte platfiu na montaz na stenu.

\ J/

A. TN RGS100-5P 3| & 9 s ™ A R M I
THREFMIL B E o] LI E RIS ENERI .

B. A AUE R LIRS R = R S 1 Ao

C. AN Rt gl (lmANBEEE: 12v-
58V) o FFIE. AIREBARNERARN v+ M V-15k, 178
SRIRLL, [IEEEAED,

- BEREIRNSEEHBIRIEE,

. 1SR A UK BB LY A M B BB SN DO ESE L 54V B
58V, MERAKMEEBRE S 48V El 58V,

E. TSR

1. BRAETHNSIMERMEL, BSIIERTEEE,
2L BEEEESHN L.

3. MR ERE, EEREIL

F. FARCH G HREHERA] M4 TR 2, IR 2 EE,

FREPX

A. RGS100-5P 58 EI B T MBRAE A IR BB IRIZHIFEFAFT
5T EARBRERMRTE > TTEIEREREDELEE o

B. RSB NBIEREEM - LUESRERFMAE o

C. ISP BB RILESS (B AFE 12v-58V) {15 o
HIEAB AN & AR BRI A I T B A9 V+ A V- 1234 I SHERARER
B 244 > LIGRAZIR TR ©

- DC BREEREEREE REMNBIRMHESS o

- B AEIRENT 54-58 VDC LART & PoE+ » S/ THL 48-58
VDC MAFF& PoE ©

E. REE5 5K ¢

1. AP RIS 2R BB 44 E DIN RBNZZR ©
2. HEEHME DIN BENLLE ©

3. ERIEDN BRI TE > BEEIEEAL °
F. BECHFAR PR A IR EE M4 SR44E 2 BE M A AR ©

Copyright © 2016 Zyxel Communications Corp. All Rights Reserved




Pngish  Yooutsch  Yespaiel  Yrengals

A. The RGS100-5P Rugged switch is designed for supporting

to make the network truly plug-and-play.

B. The switch must be properly grounded for optimum

system performance.

C. The switch can be powered from two power supply (input

range 12V - 58V). Insert the positive and negative wires into

V+ and V- contact on the terminal block and tighten the

wire-clamp screws to prevent the wires from being loosened.

+ The DC power should be connected to a well-fused power
supply.

+ Input power should be within the range of 54~58 VDC for
PoE+ compliant, or 48-58VDC for PoE compliant.

E. Mounting step:

1. Screw the DIN-Rail bracket on with the bracket and screws
in the accessory kit.

2. Hook the unit over the DIN rail.

3. Push the bottom of the unit towards the DIN Rail until it
snaps into place.

F. Screw on the wall-mount plate on with the plate and M4

screws in the accessory kit.

environmental hardening application without complex setup

. J

A. Der RGS100-5P Rugged Switch ist fur die Unterstitzung
von Anwendungen in rauen Umgebungen geeignet. Die
mihelose Einrichtung macht das Netzwerk zu echtem
Plug-and-Play.

B. Der Switch muss fiir eine optimale Systemleistung richtig

geerdet sein.

C. Der Switch kann mit zwei Stromversorgungen betrieben

werden (Eingangsbereich 12V - 58V). Verbinden Sie die

positiven und negativen Kabel mit den V+ und V- Kontakten
am Anschlussblock und ziehen Sie die

Kalbelklemmschrauben fest, um zu verhindern, dass sich die

Kabel 16sen.

« Der DC-Strom sollte an eine Stromversorgung mit guter
Absicherung angeschlossen werden.

« Der Eingangsstrom sollte im Bereich von 54~58 VDC fur
PoE+ Kompatibilitat oder 48-58VDC fiir PoE Kompatibilitat
liegen.

E. Montageschritt:

1. Schrauben Sie die DIN-Schienenhalterung mit der im
Zubehor-Set enthaltenen Halterung und den Schrauben
fest.

2. Hangen Sie das Gerét Uber die DIN-Schiene.

3. Driicken Sie die Unterseite des Gerétes zur DIN-Schiene,
bis sie einrastet.

F. Schrauben Sie die Wandhalterungsplatte mit der im

Zubehor-Set enthaltenen Platte und den M4 Schrauben fest.

. J

A. El switch resistente RGS100-5P ha sido disefado para

soportar aplicaciones en entornos duros sin una

configuracién compleja para tener una red realmente

plug-and-play.

B. El switch debe estar conectado a tierra de forma correcta

para un rendimiento éptimo del sistema.

C. El switch puede alimentarse desde dos fuentes de

alimentacion (rango de entrada 12V - 58V). Inserte los cables

positivo y negativo en los contactos V+ y V- del bloque de

terminales y apriete los tornillos sujecién de los cables para

evitar que éstos se salgan.

+ Laalimentacién DC deberia estar conectada a una fuente
de alimentacion con fusible.

« La potencia de entrada deberia ser entre 54 a 58 VDC para
soportar PoE+, 0 48-58VDC para soportar PoE.

E. Pasos para el montaje:

1. Atornille el soporte de carril DIN con el soporte y los
tornillos en el kit de accesorios.

2. Enganche la unidad sobre el carril DIN.

3. Empuje la parte inferior de la unidad hacia el carril DIN
hasta que encaje en su sitio.

F. Atornille el soporte de montaje en la pared sobre la placa

y los tornillos M4 del kit de accesorios.

. J

A. Le commutateur durci RGS100-5P est congu pour prendre
en charge I'application de durcissement environnementale
sans configuration complexe pour rendre le réseau
véritablement plug-and-play.

B. Le commutateur doit étre correctement mis a la terre

pour optimiser les performances du systeme.

C. Le commutateur peut étre alimenté a partir de deux

alimentations (plage d'entrée 12V a 58V). Insérez les fils

positif et négatif dans les contacts V+ et V- sur le bornier et
serrez les vis de serrage de fil pour empécher les fils de se
relacher.

+ Le circuit CC doit étre relié a une alimentation
correctement protégée par fusible.

+ Le courant d'entrée doit étre compris dans la plage de 54 a
58 VCC pour la conformité PoE+, ou 48 a 58 VCC pour la
conformité PoE.

E. Etape de montage :

1. Vissez le support de rail DIN avec le support et les vis du kit
d'accessoires.

2. Accrochez I'appareil sur le rail DIN.
3. Poussez le bas de I'appareil vers le rail DIN jusqu'a ce qu'il
se mette en place.

F. Vissez la plaque de montage mural avec la plaque et les
vis M4 du kit d'accessoires.

\ J

taiano___Joueh _______ JsSvenska

A. Il robusto interruttore gestito RGS100-5P & progettato per
supportare applicazioni di hardening ambientale senza
installazioni complesse per rendere la rete veramente
plug-and-play.

B. L'interruttore deve essere messa a terra per ottenere

prestazioni ottimali del sistema.

C. Lo switch puo essere alimentato da due alimentatori

(range diingresso 12V - 58V). Inserire i fili positivo e negativo

nei terminali V + e V- della morsettiera e stringere le viti

serrafilo per evitare che i fili si allentino.

«+ L'alimentazione cc deve essere collegata a un alimentatore
ben dotato di fusibili.

+ La potenza diingresso deve essere all'interno della gamma
di 54~58VCC per PoE + compatibile, o0 48-58VCC per PoE
compatibile.

E. Passo di montaggio:

1. Avvitare la staffa guida DIN con la staffa e le viti nel kit di
accessori.

2. Agganciare l'unita sulla guida DIN.
3. Premere la parte inferiore dell'unita verso la guida DIN fino
a quando non scatta in posizione.

F. Avvitare la piastra di montaggio a parete con la piastra e
viti M4 nel kit di accessori.

A. De RGS100-5P Rugged schakelaar is ontworpen om een
environmental hardening toepassing zonder ingewikkelde
installatie te ondersteunen om het netwerk daadwerkelijk

plug-and-play te maken.

B. De schakelaar dient op juiste wijze worden geaard voor
optimale prestaties van het systeem.

C. De schakelaar kan door twee stroombronnen van stroom
worden voorzien (ingangsbereik 12V - 58V). Plaats de
positieve en negatieve draden in de V+ en V- contactpunten
op het klemmenblok en draai de schroeven op de
draadklemmen vast om te voorkomen dat de draden
losraken.

« De DC-voedingsbron dient te worden aangesloten op een
goed gezekerde stroomvoorziening.

- Hetingangsvermogen moet binnen het bereik van 54~58
VDC voor PoE+ conform, of 48-58VDC voor PoE conform.

E. Montage stap:

1. Schroef de DIN-Rail beugel aan met de beugel en de
schroeven in de accessoireset.

2. Haak de eenheid over de DIN-Rail.

3. Druk de onderkant van de eenheid naar de DIN-Rail tot hij
op zijn plaats klikt.

F. Schroef de wandmontageplaat aan met de plaat en de M4

schroeven uit de accessoireset.

\. J

A. RGS100-5P Rugged-reglaget ar utformat for att stodja
miljohardningsapplikation utan komplicerad konfiguration
for att gora natverket till en dkta plug-and-play-l6sning.

B. Reglaget maste vara korrekt jordat for optimal

systemprestanda.

C. Reglaget kan slas pa fran en dubbel strémférsérjning

(ingdende intervall 12V - 58V). For in de positiva och

negativa kablarna i kontakten V+ och V- pé terminalblocket

och spénn kabelklammans skruvar for att forhindra att

kablarna lossar.

+ DC-strommen ska anslutas till en effektiv
stromforsorjningskalla.

+ Ingdende strom ska ligga inom omradet 54~58 VDC for

E. Monteringssteg:

1. Skruva DIN-skenfastet med fastet och skruvarna i
tillbehorskitet.

2. Haka pa enheten 6ver DIN-skenan.

3. Tryck undersidan av enheten mot DIN-skenan tills den
snapper fast pa plats.

F. Skruva pa vdaggmonteringsplattan med plattan och

M4-skruvarna i tillbehorskitet.

\ J

PoE+ kompatibilitet, eller 48-58VDC for PoE-kompatibilitet.

A. Robustni pfepina¢ RGS100-5P slouzi jako podpora pfi

zabezpeceni systému bez slozitého nastavovani. Sit tak mlze

opravdu vyuzivat technologii plug-and-play.

B. Pro optimalni vykonnost systému je nutné prepinac fadné

uzemnit.

C. Prepinac Ize napéjet ze dvou zdroju elektrické energie

(rozsah 12V - 58 V). Vlozte kladny a zaporny kabel do

kontaktu V+ a V- na svorkovnici a upevnéte Sroubky, aby se

kabely neuvolnily.

+ Napéjeni stejnosmérnym proudem by mélo byt pfipojeno
ke zdroji s pojistkou.

+ Vstupni napajeni by mélo byt v rozsahu 54~58 V DC pro
zafizeni v souladu s PoE+, nebo 48-58 V DC pro zafizeni ve
shodé PoE.

E. Upevnéni:

1. Pfisroubujte kolejnici pomoci konzoly a Sroubkdi v sadé s
prislusenstvim.

2. Jednotku zavéste na kolejnici.

3. Zatlacte dolni stranu jednotky smérem ke kolejnici, dokud
nezapadne.

F. Pomoci desticky a Sroubl M4 ze sady s piislusenstvim

prisroubujte k desti¢ce na zed.




